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Part] (60 MARKS)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4} on
the Optical Answer Sheet.

1.

Which of the following can help you to decide if it is a fiving thing or a non-
tiving thing? :

A: Able to move by itself
B: Able to reproduce
C: Able to grow

D Able to die
(1) AandB only - (2) C and D only
(3) B.CandDonly (4}, A, B,CandD

How does ciassifying things help us?

A : [t shows how things can be similar or different
B : It helps us to understand the diversity around us.
C : Horganizes things so that we can find them easily

{1} Aand B only ' (2) AandC only
{3} BandConly {4y A,BandC

Siti grouped some animals into two groups as shown in the table below.

Group P _ Group Q
Goat Duck
Dolphin Ostrich
Elephant Hummingbird

Which of the following(s) is/are suitable heading(s) for Group P and Group Q7?

Group P Group Q
A Mammals Birds
B: Animals that live in water Animals that five on land
C: Animals that give birth to Animals that lay eggs
young
(1) Aonly (2} B only

{(3) AandConly (4) BandC only
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4. Three students found a table as shown

Animals that
have hair

Lion
Giraffe

Animals that
have scales

Guppy
Goldfish

h

They studied the table and made the followi

Andy:

Ben:  The table shows how animals ¢
covering.

Caleb: The tabie shows that a prawn a
covering.

Animals that

below.

Animals that
have shel}

ave feathers

Sparrow Prawn
Seagull Tortoise

ng statements.

The table shows how a gQuppy and goldfish are different.

an be grouped according to their outer

nd a seagull have a different outer

Which student(s) made the correct statement(s)?

(1) Ben only

(2) Caleb only

(3) Andy and Ben only
(4) Ben and Cajeb only

The table below shows some characteristics of Plants A, B, C and D.

Do the leaves have iobed
edge or jagged edge?

Lobed edge

- Lobed edge
e A
Jagged edge

Do the flowers grow
singly or in clusters?
A - Singly
8| Cusers
C Singly
& Clgsters

Jagged edge

Which plant (A, B, C or D) best represents the plant shown above?

(1) A
(2) B
(3 C
4) D
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6 The following table shows some characteristics of two plants (R and S)

PlantR | Plant$§
Does it grow in water? Yes No
Does it bear flowers? No No

Use the classification chart to find Plant R and S.

Plants

I

1

Grow in water

I

I

|

Grow on land i

l
|

Flowering l Non-flowering I r Flowering

’ Non-flowering

&

G

.

Which group (E, F, G and H) do Plant R and Plant S beiong to?

Piant R Plant S
(N E G
(2) F H
{3) E F
(4) F G

{1) yeast and bacteria.

(2) yeast and puff balls

{3) mould and toadstool

{4) bacteria and bracket fungus

. Which of the following group includés only micro-organisms?
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8. Study the classification chart below.

E Living things S, T. U and v f

r

r Does it make its own food? No > Does it reproduce by J’—ﬂ.
spores?

Yes

r

. No
[ Does lt bear flowers? o U '

Yes

\'4

Based on the information in the classification chart above, which tiving thing
(S. T, UorV) best represents bread mould?

(1) s
(2) T
3y u
4 v

. Mei Mei recorded some observations of mushrocom and moss in a table as
shown beilow.

Characteristics Mushroom Moss
W Tis it able to bear fruits? No ; No
X 1 Does it make its own food? " No Yes
Y _|!sitable to respond to changes? : Yes - No
Z_| Does it need sunlight fo grow weil? Yes  Yes

‘However, Mei Mei's teacher told her that only some of her recordings were
.correct. Which of the above characteristics were correctly recorded?

(1) Wand X only
(2) Wand Y only
(3) XandY only
(4) Y and Z only
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Which properties make a plastic bowi a better choice than a ceramic bowl for
young children? '

{1} Heavy and hard
(2) Light and does not break easily
(3) Heavy and does not break easily

{4) Flexible and does not break easily

The picture beiow shows a pair of scissors.

Part X

Part X of a scissors is usually made of metal. What propertieé of metal make it
suitable to make the scissors?

(1) Light and shiny
(2} Hard and strong
{3) Sharp and flexible

~ {4) Waterproof and hard

What is/are the common propertyl/ies of the objects shown below?

O

Rubber band Raincoat ) Plastic bag

W: They are light.
X: They are hard.
Y: They are flexible.

(1) Wonly (2) Xonly
(3) Wand X only (4) Wand Y only
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hardness of four objects A, B, C and D by |

scratching them with different materials.
Object Presence of scratch marks made.b :
Metal Ruler Waooden Ruler Plastic Ruler
A Yes Yes Yes
B Yes No No
C No No Yes
B No No No ]

Based on the inform
hardest object?

() A
(2) B
Q) C
4) D"

ation in the table above, which object (A, B, C or D) is the

Read the fallowing to answer questions 14 and 15

10 ml

=10 m!

14. Which towe! absorbed the most amount of water?

1y A
(2) B
(3 C
4 D

15, Which material is most suitable to make a swimming costume?

(1 A
() B
(3) C
4 D
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16. What is a plant made up of?

17

(1) One plant part that carries out a single function

{2} One plant part that carries out different functions

(3} Different plant parts that carry out the same function
(4) Different plant parts that carry out different functions

Look at the pictures below.
Which of the following correctly shows a system and not a system?

Systems Not a system

(1)

{2)

(3)

{4)
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18. Which_ system helps the body to take in oxygen?

19.

20.

(1)  Circulatory system
{2}  Digestive system
{3)  Muscular system
(4)  Respiratory system

In which part of the digestive system does digestion begin? -
(1)  Gullet
{2) Mouth

{3) Small intestine
{4) Stomach

The diagram below shows the parts of the human digestive system.

Which of the following statements about organ X are true?

A: 1t stores food here for some time.

B: It digests all the food compiletely.

C: 1t produces saliva to digest the food.
D: It churns the food and mixes the food.

(1) Aand D only {2} AandC only
(3) Band Conly {4) CandDonly
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21. The classification table below shows how some body organs are classi.ﬂe_d.

Body

r

Circulatory
system

4

blood vessels
heart
blood

Which system does A represent?

(1) Digestive
{3} Respiratory

(2) Muscular
{4) Skeletal

¥

backbone
ribcage
skull

22. #Nhich one of the following systemé works together with the digestive system

to push the food from the mouth to the stomach?

{1) Circulatory system
{2) Muscular system
{3} Respiratory system
(4) Skeletal system

23. Study the diagram below.

Smali

Substance Y

intestine

Larg-e
intestine

What is substance Y that is passed from the small intestine to the large

intestine?

(1) digested food
{3) undigested food

(2) partly digested food

{4) solid waste
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24. Look at the following statements below. Which of the statements best |
describes what happens to food in the stomach, small intestine ang large

intestine?
Stomach Small intestine [ Large intestine
' Most of the water and Becomes small
(1} | Mixes with gastric juice some of the mineral enough to enter
salts are removed ) bloodstream
Most of the water
. . L Becomes smal enough and some of the
(2) | Mixes with gastric juice to enter bloodstream mineral saits are
removed
No digestion takes )
place here but only Most of the water and Becomes smatl
(3) pushes food some of the minerai enough to enter
downwards salts are removed bloodstream
No digestion takes Most of the water
) place here but only Becomes small enough and some of the
pushes food to enter bloodstream mineral salts are

downwards removed
— | removed |

25. [The diagram below shows a process Z which takes place in our body.

Food Process 2 . Simple
substances

Where does this process 7 takes place?

A gullet

B: stomach

C: small intestine
D: large intestine

(1) BandC only
(2) A, BandC only
{(3) B,CandD only
{4) A,B,CandD

10
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27.
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Tim was suffering from diarrhoea and was losing too much water from the
body. '

Which part of his body was not working well?

(1) Anus (2) Large intestine
(3) Rectum (4) Small intestine

Mr Seah showed a picture to the class and said, “This piant is an underground
stem.”

Which of the following is most likely to be the picture shown by Mr Seah?

Carrot - Ground nuts

(1) | (2)

Potato

(3) | @)

i1
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28. The diagram below shows a cut section of an apple.

Which part of the apple will grow into a new plant?
(h A (2) B
3 ¢ 4y D

28, The diagram below shows two different types of roots. Andy and his friends
found it more difficult to pull out Plant B than Plant A '

Roots of Roots of
Plant A Plant B

They came up with a list of possible reasons as to why Plant B is more
difficult to pull out than Plant A.

Andy : Plant B has a stronger stem.
Bala : Roots of Plant B grows deeper into the ground.
Cathy : Roots of Plant B takes in more water.

Based on the diagram above, whose statement/s do you think is/are cotrect?
{1) Andy only
(2) Bala only.

{3} Andy and Bala only
{(4) Andy, Bala and Cathy

12
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30. Siva covered two patches of healthy grass using two different coloﬁred-piastic
sheets for ten days. '

Grass
Black Clear

plastic sheet plastic sheet

The table below shows what he found when he took the plastic sheets away
after 10 days.

Colour of plastic sheet . Colour of grass
Black Yellow
Clear - Green

What does the observation show about what condition is needed for the grass
to grow well?

(1) air
(2) soil

(3} sunfight
(4} water

End of Booklet A

I3
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BOOKLET B (40 MARKS)

For questions 31 to 46, write your answers in this booklet.

Ahmad piaced 4 types of bread in different set-ups as shown below.

Set-up A ' o Set-up B
»
Dry _ Dry _|
bread ’ bread
In a bright room
Set-up C
Moist__
bread

in a bright room - In a dark room

After two weeks, he made two observations.

First observation: There was mould found on only the two bread slices in set-
ups C and D. .

(a}  Based on Ahmad's first observation, name the condition that has

Cgused-the mould to grow. {(1m)

Second observation: There was more bread mould on the bread in sét-up D
than in set-up C.

{b)  Give a reason for Ahmad's second observation.(1m)
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32.  The classification chart befow shows how some fruits are grouped.

r Fruits

I

f ]
l Fruits with rough skin ’ _ A
l | P
l ] l l
r Many seeds One seed Many seeds [ One seed J
I - l I
Durian Rambutan Tomato Mango

-. (@)  Give a suitable heading for A. {(1m)

{b} Is it possible to group rambutan and mango in one group? Explain why.
(1m)

(c) Which fruit from the chart (durian, rambutan, tomato or mango) i chilli
most similar to? (1m)

33. Devi recorded some observations she made about an animal Z. Her
observations are as below.

Animal Z
« It has six legs.
« It has a hard covering. .
* lts body is divided into three body parts. -

(a) Based on Devi's observations, which animal group does Animai Z
be}ong to? {(tm)

A—

(b} How does Animal Z reproduce? (1m)

(c}  Whatis the function of Animal Z's hard covering? (1m)

IS
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34.  Susan wrapped the roots of two water plants using a plastic bag and a paper
bag as shown below. '

Plastic
bag

Plant X

Then, she placed the two plants back into the pond.

{a)  What would happen to Plant X and Plant Y a few weeks later? {(2my)

() PlantX:

() PlantY:

(b) Explain how the plastic bag caused the observation in (a). (2m)

35.  Look at the picture below.

Part B

What are the materials that are suitable for making Part A and Part B? (2m)

Part A;

Part B:

I6
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36.  The table below shows some of the praperties of four materials (W, X; Y and

Z}).
[ w X Y Z
s light No Yes Yes Yes
Is strong - Yes Yes Yes No
Can bend No ., No Yes No
Breaks when dropped Yes No No No
(a) Which of the materials (W, X, Y or Z) would you use to make a school bag?
(1m)
Material

(b) State one similarity between Material W and Material Z. (1m)

(¢} Using one of the materials, Chon
cutting meat.
Chong Meng chose material X while Mary chose material Y.
Whose choice do you agree with? Explain why. (1m)

g Meng and Mary wanted fo make a knife for
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37.  David set up an experiment as shown below. He wanted to find out which
paper (A, B, or C} is the strongest. He placed the different types of paper
between two tables to form a bridge and added marbles onto the scale pan
until the paper tore.

paper

table

scale pan

David recorded the number of marbles each type of paper could hold in the

table below.
Paper Number of ma brbles tt_le paper could hold
efore it tore
A 5
B 10 ]
C _ : 1

(a) Which paper (A, B or C) is the strongest? {1m)
2

(b) Give a reason for your answer ip (a). (1m) -

18
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38.

40.
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What is the main function of the digestive system? (2m)

—

ldentify the human body systems directi

in the table below. {4m)

——

y associated with the problems fisted

i Problem

(a)

b)

- System ‘]

| fell sick after eating seafood that
was not fresh.

I had difficuity breathing when [ had
an asthma attack.

(c)

! fractured my ankle as | was rushing
to catch the bus,

I suffered from a muscle cramp when
I was playing football.

Name

(a)

(b)
(¢}
()

—— I

________________‘___________~—-—-——_.________________

e

the correct organ for the following: (4m)

Water is absorbed from the
undigested food here D

Food is fully digested here - .

Waste is removed here I -
-—

Faeces is temporarily stored here - N
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David had a plate of fried noodles {40 grams) for dinner. The graph below
shows the amount of digested fried noodles in four parts (W, X, Y and Z) of
his digestive system.

Amountof 12 |-

digested 10 +— - — . _.___
fried noodles 8 +—

(in grams) 6

18 N
16 B
14 B

Part W Part X Party PartZ

Part of David's digestive system

(a)

(b)

Which part of .David’s digestive system is Part Z most likely to be’é {1m)

Name the part of David's digestive system that the undigested fried
noodles will pass through after Part 7. {1my)

Explain why there was no increase in the amount of digested fried
noodies in Part X. (1m) .

20
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Group A

mouth
gullet
stomach
small intestine
targe intestine

(a) Why did she classify the body parts in Group A? {1m)

Shirley made a fist of several human body parts in Group A as shown bélow.

(b} Classify the above body parts into two groups, B and C. _

{1m)

Group B

Group C

(c} How is Group B and C different? {1m)

21
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43.  John bought a plant as shown below. He realized that the plant has a weak
stem so it cannot stand upright on its own.

(a) Why is it important for the plant to stay upright? (1m)

{b) If John were to grow the plant in a pot, what could he do to help the plant
stay upright? (1m)

22
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layer of oil is poured into both
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and X, with similar plants in a classroom. A
beakers to prevent the water from drying up.

Beaker W

Beaker X

He recorded the amount of water in the beakers at first and after 3 days.

[ Beakers At first After 3 days
w 50 mi 20 ml
X 50 mi 40 mi ]

{(a) From the table above, what do you observe about the amount of water in

{b) Could the experiment above be used to show
Support your answer with a reason. (1m}

the 2 beakers after 3 days? {1m)

that roots take in water?

Question 44 is continued on page 24.

23
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Adrian then prepared another two beakers. Y and Z, with the same fybe of
plants in the same classroom. '

oil

water

Beaker Y Beaker Z

He recorded the amount of water in the beakers at first and after 3 days.

(¢} Fill in the-blank in the table below to show the likely amount of water in beaker
Z after 3 days. (1m)

Beakers At first _ After 3 days
Y 50 mi 20mt .
Z - 50 ml {c)

End of paper

24
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| 31)a)Moisture and water caused the mould to grow.
b)Mould grows faster in darkness than in light.

32)a)Fruits with smooth skin.
b)Yes. They both have one seed.
c)Tomato.

33)a)lt belongs to Insects,
b)It reproduce by laying eggs.
c)It is to protect the insect.

34)a)i)It will die.  ii)It will continue growing.
b)It's roots cannot absorb water.

35)A: Glass B: Rubber
36)a)yY.
b)Both are Flexible.
c)Material X cannot bend easily.

37)a)B. '
b)The paper could hold the greatest number of marbles before it tore.

38)Breaks down food into simple substances, so that it can be used by the
body.

Page1to 2 page 1



39)a)digestive system.
b)respiratory system.
c)skeletal system.
d)Ymuscular system.

40)a)Large Intestine.
b)Small Intestine.
C)Anus.
d)Rectum.

41)a)Smali Intestine.
b)Large Intestine.
¢)No digestion has taken place.

42)a)it is Digestive system.
b)Group B: Mouth, stomach, small intestine
Group C: Gullet )
c)Group B has parts where digestion takes place while Group C has parts
that digestion does not takes place. .

43)a)lt is important for the plant to stand up right as it needs sunlight.
b)Out a stick so that the plant can grow around it.

44)a)The water in both beaker W and X is decreasing .

b)Yes, with roots more water will be taken by the plant.
c)25ml
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